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Пример к 11 задаче
[bookmark: _GoBack] [image: C:\Users\1\Desktop\мэи\3 сем\ВМ-2\5\5-1.JPG] [image: C:\Users\1\Desktop\мэи\3 сем\ВМ-2\5\5-2.JPG]
image1.png




image2.jpeg
E ate A

I

e S R

-~

i\; =0 Edi=€
a8 e
X = 1o E\«ﬂ(]: 2,4-08+29+¢LU=59
=N -
X' =0 §\\ix{:—l\,8+o,g+2q*28:l'¥
: | ) ; 3
Pab & S

B0= o +a,x+q, ¢
Sa.+100,=8

(oY e v S8

100e +34Q, =1}
Q=059

Q=3 o=Dia )

Q, = -oag

Q= 9ass

P.(X)= 2,632 +058x - O%AeHE




image3.jpeg
g e

N F —l——r<(,1,u52*1,‘)\3 (o026 -08Y (1 224
v MV 2+l

- QM 1,3

[sa.=¢
‘("5:'01 = §,‘3
0, = 172

OL :OIEQQ

%) = 1.9 0 504

(O s e
o %((\Q;}‘zﬁ>@g/j) ;/;,;J = /3}2 ',_(?’Sop;’“;L': J
A
5= |5 001 ¢ 0p1-08 (L2285 + 2295 + (30 -

= Jo,5 (1,488 0,036 + 394 +908 + 2,822) = 1, 959





